
Installation steps:

Name:ECO  Trolley
Model:TR9000

Name:ECO  Trolley 
Model:TR9000

Check the number of components according to 
the following list before installation.   Install right & left column to the chassis module   Install desktop to right & left column

  Install printer shelf  Install paper basket

1

2

3

4

6

7

 8

 9

5 10

Chassis Module 

Left Column 

Right Column 

Paper Basket 

Paper Basket 

Printer Shelf 

Desktop 

Fixture 

Screw M3-20 

Screw M3-5

Screwdriver

1

1

1

2

1

4

4

1

1

1

1 2

Item Name Q'ty Item Name Q'ty

1 2

3 4

640
555

86
0

Fixture

Desktop

Printer Shelf

Paper Basket

Right Column

Left Column

Chassis Module

Attention：Hand spin screws(Screw3-20 & Screw3-5) are used to install
                  the main unit and the printer. Please keep it properly！

1.Insert the left column into the chassis module, position pin should 
be fixed in the position hole, assemble them together with 4 screws 
at the bottom of the chassis.
2.Insert the right column into the chassis module, assemble them 
together with 4 screws at the bottom of chassis module.

Hang the 2 paper baskets the screws side of the left & right columns.
The height of paper basket locket can be adjusted by moving the 
screws.

CHISON Medical Technologies Co., Ltd.
Addr. :No.228, Changjiang East Road, Block 51 and 53, Phase 5, Shuofang Industrial Park, Xinwu District, Wuxi, 
Jiangsu, China 214142  
Tel. :0086-510-85310593/85310937/85311707
Fax :0086-510-85310726 
Website :http://www.chison.com
E-mail :export@chison.com.cn

Fix the printer shelf into the corner support between 2 
columns  using 4 screws(M3×6 ).

Put the fixture into the desktop, fix them with the left & right 
column together using 8 screws(M5×12) from bottom.

Position  Pin

Position Hole

Right Column

Left Column

Chassis Module

Desktop

Fixture

×8

×8

×4

Printer Shelf


